

 


(i) 

     i < C     r < 90o 
(ii) 90o 
     
      i = C     r = 90o 
(iii) 
      90o

      i > C     r > 90o 
 

 

 

 
 
 
 

 

 :  





















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 M1 

M2 

i = C 

r = 90o 

M1 

M2 
r > 90o 

i > C 
M1 

M2 

i 

r > i 

i < C 

M1 = Denser medium            M2 = Rarer medium 
  



 

 
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Total Internal Reflection 
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NAGA MURTHY- 9441786635   
Contact at :   nagamurthysir@gmail.com    
Visit at :  ignitephysics.weebly.com 

L1 

L2 

L3 

L4 

 Imagine there are several layers of 
air with different refractive indices.  
L1  layer is colder than L2 layer. L1 
acts as denser medium and L2 acts 
as rarer medium. So the light rays 
bends away from the normal while 
passing through L1-L2 interface. 
L2  layer is colder than L3 layer. L3 
acts as denser medium and L3 acts 
as rarer medium. So the light rays 
bends away from the normal while 
passing through L2-L3 interface. 
Similarly the refraction continues 
at different layers. At a particular 
layer, it gets Total internal 
reflection. 
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